



PO Number **2408047**

Purchase Order Date: SEP 17 2024

Procuring Unit : AMORANTO SPORTS COMPLEX

Project Number

:ASC-24-HCS-0253

Company Name

Mode of

: LIFESCREEN INTERNATIONAL CORPORATION

Procurement

:Public Bidding

Address

:24-PB-648

: Unit 206 of 99 Maginhawa St., Teachers Village East, Quezon Resolution No.

TIN Number

:235-980-633-000

Business Type

: Corporation Registration #CS200419021

Contact Number :09393637142

Sir/Madam:

Please furnish this office the following articles subject to the terms and conditions contained here:

Place of Delivery : CGSD Central Warehouse

Delivery Schedule: Thirty (30) Calendar Days

Payment Term:

Stock	Item	Unit of	QTY	Unit Cost	Amount
No.		Issue			
64	Paint, Latex Emulsion Acrylic Color Blue, Semi-gloss use for concrete, 4 liter/can	Can	10	1,395.00	13,950.00
65	Tape Measure 10 meters Self lock function with metric and inch, Double button, Pure ABS Material cover 10 meters/25mm/pc	Piece	2/	471.10	942.20
. 66	Teflon Tape For pipe threading sealing to prevent leaks Size 1", /roll	Roll	50,	20.25	1,012.50
67	Light Switch Wide Series 1 way switch Set 1 gang, /pc	Piece	50	167.70	8,385.00
68	Light Switch Wide Series 1 way switch Set 2 gang, /pc	Piece	50	214.18	10,709.00
69	Light Switch Wide Series 1 way switch Set 3 gang, /pc	Piece	50	299.00	14,950.00
70	Welding Rod, 2.5x300mm (3/32 x 12in) Special E6013/box	Box	30	190.00	5,700.00
71	Coupling ½" with thread Material Stainless steel Length 0.5in Weight 1kg/pc	Piece	50	48.60	2,430.00
72	Elbow Pipe ½" no thread EMT elbow 1/2" electrical metallic tubing/pc	Piece	50,	21.60	1,080.00
73	Coupling with thread, Material Thickened environmental protection PPR; Application for hot and cold water, /pc	Piece	50	136.35	6,817.50
74	PPR COUPLING Plain 3/4" used as fittings in lining potable water supply; material PPR, /pc	Piece	50	6.70	335.00
75	PPR COUPLING Plain 1/2" used as fittings in lining potable water supply; material PPR	Piece	50	8.10	405.00
76	PPR COUPLING Plain 1" used as fittings in lining potable water supply; material PPR	Piece	50	12.00	600.00
77	Plastic Storage Pallet, 1.20mW x 1.20mL(39) 1.2m x 0.18m 4-way closed pallet with load capacity of 6,000kg (static) or 1,500kg (dynamic), /pc	Piece	8,	5,810.00	46,480.00
78	Web Camera, HD 720p Widescreen for video Calling and Recording; Frame rate 30fps; compatible with Windows, Works in USB Video Device Class mode with supported video calling clients, USB Port, Internet Access / unit	Unit	5	1,478.00	7,390.00
	internet Access / unit	T	mount:		1 714 000 15

Total Amount:

1,714,000.15

Total Amount In Words (Pesos): One Million Seven Hundred Fourteen Thousand Pesos and 15/100 Only

MA. JOSEFÍNA G. BELMONTE City Mayor

02985829

Signature Over Printed Name of Supplier / Date

Funds Available:

RUBY'G. MANANGU City Accountant

Approved Budget for the Contract: 1,714,561.20

OBR: 10 2024-09-9281





PO Number **2408047**

Purchase Order

SEP 17 2024.

Procuring Unit

: AMORANTO SPORTS COMPLEX

Project Number

:ASC-24-HCS-0253

Company Name

Mode of

:Public Bidding

: LIFESCREEN INTERNATIONAL CORPORATION

Procurement

Address

: Unit 206 of 99 Maginhawa St., Teachers Village East, Quezon Resolution No.

:24-PB-648

TIN Number

:235-980-633-000

Business Type

: Corporation Registration #CS200419021

Contact Number

:09393637142

Sir/Madam:

Please furnish this office the following articles subject to the terms and conditions contained here:

Place of Delivery : CGSD Central Warehouse

Delivery Schedule: Thirty (30) Calendar Days

Payment Term:

Stock No.	Item	Unit of Issue	QTY	Unit Cost	Amount
1	Trash bag, XL size, pack/roll	Pack	3,000	92.40	277,200.00
2	Synthetic Leather 140x900cm black/yard	Yard	10	256.00	2,560.00
3	Safety Shoes Full Grain Leather, Slip resistant, Penetration Resistant, Anti- Static TPU, Steel toe cap, Heavy Duty Anti- Bacterial Shoes Steel Midsole/Pair (Size 8 and Size 9)	Pair	2 ′	4,252.00	8,504.00
4	Caution Tape, 1 roll Barricade Tape Yellow with Black warning tape Size: 48-49mm wide about 25m/roll	Roll	20 -	472.00	9,440.00
5	Trash Can Size: W: 17cm L: 25cm H: 36cm Made of PP Raw Material /pc	Piece	160	93.00	14,880.00
. 6	Non-Buffable Liquid Wax, floor liquid Sealer Wax, per Gallon	Gallon	15	982.80	14,742.00
7	Badminton Net, Standard size, 600cm x 70cm, Nylon Rope, /pc	Piece	5 /	668.25	3,341.25
8	Basketball Net, heavy duty standard size, tri-color, weight .025 kg /pc	Piece	20	663.00	13,260.00
9	Volleyball Net standard size, heavy duty, size:10cm*10cm 4, Net diameter 2.5mm, /pc	Piece	5 ,	461.50	2,307.50
10	Table Tennis Net standard size heavy duty, Clip thickness: 5cm Material: nylon net/PVC shell/rubber Weight: about 0.5kg, /pc	Piece	20	376.65	7,533.00
11	Tennis Net, standard size heavy duty black, with handle wire strand, /pc	Piece	10	4,745.00	47,450.00
12	Daily Cleaner, For all types of concrete, terrazzo, tiles and natural stone surface, PH neutral, No ammonia, no acid, no alcohol / 1 liter, /bottle	Bottle	50	540.00	27,000.00
13	(CR) Clean and Restore, heels resist scuffing, scratches and water spots, 1ltr/bottle	Bottle	50	810.00	40,500.00
14	HG Sealer, Advanced high gloss stain and wear protection Finish/Sealer (20L/container)	Container	5,	84,110.00	420,550.00
15	Red Polisher PAD 17", for floor polisher / pc	Piece	50	819.00	40,950.00
- 16	White PAD 17", for floor polisher / pc	Piece	50	945.00	47,250.00

MA. JOSEFINA G. BELIMONTE City Mayor

Signature Over Printed Name of Supplier / Date

Funds Available:

RUBY G. MANANGU City Accountant

OBR: 10-2024-09-928T

Approved Budget for the Contract: 1,714,561.20

Page 1 of 5

QCG.PD.DMD.F.04

in A)





2408047

Purchase Order Date: SEP 17 2024,

Procuring Unit

: AMORANTO SPORTS COMPLEX

Project Number

:ASC-24-HCS-0253

Company Name

: LIFESCREEN INTERNATIONAL CORPORATION

Mode of

:Public Bidding

Procurement

Address

: Unit 206 of 99 Maginhawa St., Teachers Village East, Quezon Resolution No.

:24-PB-648

TIN Number

:235-980-633-000

Business Type

: Corporation Registration #CS200419021

Contact Number :09393637142

Sir/Madam:

Please furnish this office the following articles subject to the terms and conditions contained here:

Place of Delivery : CGSD Central Warehouse

Delivery Schedule: Thirty (30) Calendar Days

Payment Term:

Stock No.	Item	Unit of Issue	QTY	Unit Cost	Amount
			10-	2 227 50	22.275.00
17	Circular Brush 17" for floor polisher / pc	Piece		2,227.50	22,275.00
- 18	Microfiber Mop with Handle and Applicator 36" /pc	Piece	10	4,050.00	40,500.00
- 19	Microfiber wet and dry mop 36" / pc	Piece	10	1,971.00	19,710.00
- 20	Gomma Heat pad for floor polisher/pc	Piece	10	4,725.00	47,250.00
21	Epoxy All-purpose Set A&B Color pink 2 component structural adhesive for repair, bonding and fabrication 1L/Can	Can	20,	985.50	19,710.00
22	All Around Sealant, 75ml/pouch	Pouch	40	91.00	3,640.00
23	Rust Remover high capillary effect Lubricates and protects against rust and corrosion loosens seized joints Temperature application range: -20 +90 degrees Celsius, 11.02oz/250ml spray can	Can	30⁄	398.00	11,940.00
24	11 Watts LED Fluorescent Tube (600mm), /pc	Piece	50	648.70	32,435.00
25	11 Watts LED Fluorescent Tube (1200mm), /pc	Piece	200,	648.70	129,740.00
26	5 Watts LED Bulb, /pc	Piece	50	200.00	10,000.00
27	Jumbo Roll Paper Towel JRT Stainless Dispenser Wall Mounted Bathroom Tissue Dispenser Big Roll Tissue Holder, This tissue dispenser holds one roll-up to 9" in diameter, /pc	Piece	30-	1,620.00	48,600.00
28	Jumbo Roll Tissue Premium Quality (2 ply) 24cm diameter x 8.5cm wide. (1Roll)	Roll	200 /	114.75	22,950.00
29	15 Watts LED Bulb, /pc	Piece	100-	350.00	35,000.00
⁻ 30	Utility Pail with cover and dipper, 10 liters dimension L27, W27,H26cm Blue/Red/set	Set	30 /	260.00	7,800.00
31	Toilet Nylon Brush, Bristles are made of PP Material; End to end Length: 45cm (approx.); Brush Size: 2.5cm, /pc	Piece	50/	72.90	3,645.00
32	Window Cleaner wiper with sponge, Double sided retractable Glass wiper Extendable sponge wiper with long Handle; Aluminum Pole (up to 95cm), /pc	Piece	30 /	213.30	6,399.00
₹ 33	Multi- purpose Cleaner Dirt and Stain Remover 250 grams/ can	Can	100	133.65	13,365.00

MA. JOSEFÍNA G. BELMONTE City Mayor

Signature Over Printed Name of Supplier / Date

Funds Available:

RUBY G. MANANGU City Accountant

Approved Budget for the Contract: 1,714,561.20

OBR: 1 224-09. 929T

QCG.PD.DMD.F.04

1 pm 1 7 7

Page 2 of 5





PO Number

2408047

Purchase Order

Date: SEP 17 2024 *

Procuring Unit

: AMORANTO SPORTS COMPLEX

Project Number

:ASC-24-HCS-0253

Company Name

: LIFESCREEN INTERNATIONAL CORPORATION

Mode of

:Public Bidding

Procurement

Address

: Unit 206 of 99 Maginhawa St., Teachers Village East, Quezon Resolution No.

:24-PB-648

TIN Number

:235-980-633-000

Business Type

: Corporation Registration #CS200419021

Contact Number

:09393637142

Sir/Madam:

Please furnish this office the following articles subject to the terms and conditions contained here:

Place of Delivery : CGSD Central Warehouse

Delivery Schedule: Thirty (30) Calendar Days

Payment Term:

Stock No.	Item	Unit of Issue	QTY	Unit Cost	Amount
34	Toilet Pump Dredger made of ABS Plastic, rubber, stainless steel, H45cm, W16cm x10.6cm handle/pc	Piece	10	675.00	6,750.00
35	Batten Housing, 1x40 slim type, 1230x58x25mm; metal sheet housing; double-end wiring connection; IP rating - 1P 40, /pc	Piece	50	191.70	9,585.00
36	Cable tie Wire (4 inches) 100mm, made of nylon/ pack	Pack	30	47.25	1,417.50
37	Cable tie Wire (8 inches) 200mm, made of nylon / pack	Pack	30	108.00	3,240.00
- 38	Cable tie Wire (12 inches) 300mm, made of nylon / pack	Pack	30	162.00	4,860.00
39	Glass Mirror, Measurement L33.5 x W1.7 x H94.5cm Weight 1.65kg/pc	Piece	4_	741.15	2,964.60
40	Coated Rubber Gloves, high quality working gloves multipurpose/construction, oil resistant nitrile. Abrasion-resistant, /pair	Pair	30_	210.50	6,315.00
41	Extendable Ladder, 21ft, 16.8kg, retracted- 44.0x365.8x11.0, extended 44.0x640.1x11.0, /unit	Unit	2.	9,450.00	18,900.00
42	Concrete Nail,1.5", made of hardened steel, kilo	Kilo	10	260.00	2,600.00
43	Black Screw,1.25", Black Material, 100pcs/box	Box	10/	130.00	1,300.00
44	Metal Polish, 150ml/bottle	Bottle	20-	258.70	5,174.00
45	Electrical Flexible Hose 1/2, Orange Flexible Hose made of PVC, meter	Meter	300	12.10	3,630.00
46	Electrical Flexible Hose 3/4, Orange Flexible Hose made of PVC, meter	Meter	300	18.90	5,670.00
47	Multi-Purpose Lubricant , Silicone free,100ml/can	Can	50	260.00	13,000.00
48	C-Clamp 3/4 made of PVC; use for electrical; 100pcs/pack	Pack	10	114.70	1,147.00
49	C Clamp 1/2 made of PVC use for electrical; 100 pcs/pack	Pack	10	101.60	1,016.00
50	Adjustable Wrench Sizes 6" Built in Tension spring stabilizes movable jaw, Polished chrome head Lightweight Handle design Handle hole for tethering	Piece	2/	293.80	587.60
			2024	1 19	

MA. JOSEFINA G. BELMONTE City Mayor

Signature Over Printed Name of Supplier / Date

OBR: 10. 2004-89-9285

Funds Available:

RUBY G. MANANGU **City Accountant**

Approved Budget for the Contract: 1,714,561.20

Page 3 of 5

QCG.PD.DMD.F.04

spe do





PO Number

2408047

Purchase Order Date: SEP 17 2024

Procuring Unit

: AMORANTO SPORTS COMPLEX

Project Number

:ASC-24-HCS-0253

Company Name

: LIFESCREEN INTERNATIONAL CORPORATION

Mode of

:Public Bidding

Address

Procurement

; Unit 206 of 99 Maginhawa St., Teachers Village East, Quezon Resolution No.

:24-PB-648

TIN Number

:235-980-633-000

Business Type

: Corporation Registration #CS200419021

Contact Number :09393637142

Sir/Madam:

Please furnish this office the following articles subject to the terms and conditions contained here:

Place of Delivery : CGSD Central Warehouse

Delivery Schedule: Thirty (30) Calendar Days

Payment Term:

Stock No.	Item	Unit of Issue	QTY	Unit Cost	Amount
51	Adjustable Wrench Sizes 8" Built in Tension spring stabilizes movable jaw, Polished chrome head Lightweight Handle design Handle hole for tethering	Piece	2,	392.85	785.70
52	Adjustable Wrench Sizes 10" Built in Tension spring stabilizes movable jaw, Polished chrome head Lightweight Handle design Handle hole for tethering	Piece	2′	467.10	934.20
53	Long Nose Size 8" Smooth Tapering jaws are capable of gripping and maneuvering, carbon steel, polished	Piece	2,	405.00	810.00
54	Pliers size 9" Induction hardened jaws helps tool stay sharp, Bi material handle for comfort and control, Drop forged steel for strength and durability	Piece	2	432.00	864.00
55	Pliers size 10" Induction hardened jaws helps tool stay sharp, Bi material handle for comfort and control, Drop forged steel for strength and durability	Piece	2	432.00	864.00
56	Side Cutter Size 8" Diagonal plier 8" 200 mm side cutter wire cutters Anti rust	Piece	2 -	186.30	372.60
57	Paint brush 2" Black Bristle/pc	Piece	20 /	25.00	500.00
58	Paint brush 3" Black Bristle/pc	Piece	30/	40.00	1,200.00
59	Paint Roller with Tray 1/2 x 9 inches/set	Set	20 /	140.00	2,800.00
60	Paint, Quick Drying Enamel Color: Black, flat use for wood and metal surface 4 liters/can	Can	10	760.00	7,600.00
61	Paint, Quick Drying Enamel Color: White, flat use for wood and metal surface 4 liters/can	Can	10	760.00	7,600.00
62	Paint, latex Emulsion Acrylic Color White, Semi-gloss use for concrete, 4 liter/can	Can	10 /	1,395.00	13,950.00
63	Paint, Latex Emulsion Acrylic Color Black, Semi-gloss use for concrete, 4 liter/can	Can	10 /	1,395.00	13,950.00

MA. JOSEFINA G. BELMONTE

City Mayor

Signature Over Printed Name of Supplier / Date

OBR: 1 - 2004- 69-948

Funds Available:

RUBY G. MANANGU City Accountant

Approved Budget for the Contract: 1,714,561.20

Page 4 of 5

QCG.PD.DMD.F.04